1. Kanenpapusiii yueOHblii rpagux (rp. C121K)

K CeHTs16pb |29 [ OkTAGOpPL |27 Hosbpb Hexkabpb |29 SAuBapb (26| ®eBpansb (23 MapT 30| Anpenb |27 Mawn UioHb 29| Wwnb |[27| Asryct Bcero |Oksa| [Mpaktuka (Hen) lFocy | Ka Bce
Y | 1]8([15|22[1X]| 6 [13|20| X | 3 |10(17|24| 1| 8| 15(22(XI| 5 [ 12|19 I | 2| 9|16[ 11| 2|9 |16(23]| 1| 6 |13(20| IV | 4 [11]| 18|25( 1| 8 (15|22 VI| 6 | 13[20|VII[ 3 |10[17|24] He- | w4a- [meH.| yueb | npo | npea |mapcT| Hu ro
P 5 2 4 1 1 5 3 5 2 ne | coB |cec-| Has | w3e- | gun | utor. Ky Hen
C | 7|14[21]28[ X |12[19]|26|XII| 9 |16(23|30| 7 |14| 21[28| | | 11| 18 |25| Il | 8 |15|22| | 8 [15|22[29]| IV [12]|19|26| V | 10 | 17| 24 | 31| 7 | 14 [21]|28|VII| 12| 19| 26|VII| 9 | 16[23|31] nb cust as [nomH| atT. | nbl | emb
| 17 Hep. =| = 23 Hep. sl=[=|=|=|=|=[=|=[=]40]1440] 1 11 52
[ 16 Hea. =] = 20 Hep. :|O[0|O]=|=]=|=]|=[=]|=|=|=]36]1206] 2 | 3 11 | 52
Il 16 Hep. == e][e] 17 Hep. O|O[=18|8]8[=]|=|=[=]|=[=]|=|=]|33|1188] 2| 4 | 3 10 | 52
v 17 ea. 6 oloJof== :18]8[8[8[8[8]8[8[8XI X[ X[ X[t 7]e2| 1] 4o ale]| 2 |43

Wtoro: 126 | 4536 | 6 11 12 4 6 34 199

TeopeTuyeckoe Yye6Hasn MpakTuka Mpenr Mp yTouHas KaHukynbi FocypnapcTBeHHas
obyyeHue npakTuka no npodcunio npakTuka aTTectaums uToroBasi
cneunanbHOCTH aTTecTaums
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1. Kajenpapusiii yueOHblii rpagux (rp. C122)

K CeHTs16pb |29 [ OkTAGOpPL |27 Hosbpb Hexkabpb |29 SAuBapb (26| ®eBpansb (23 MapT 30| Anpenb |27 Mawn UioHb 29| Wwnb |[27| Asryct Bcero |Oksa| [Mpaktuka (Hen) lFocy | Ka Bce
Y | 1]8([15|22[1X]| 6 [13|20| X | 3 |10(17|24| 1| 8| 15(22(XI| 5 [ 12|19 I | 2| 9|16[ 11| 2|9 |16(23]| 1| 6 |13(20| IV | 4 [11]| 18|25( 1| 8 (15|22 VI| 6 | 13[20|VII[ 3 |10[17|24] He- | w4a- [meH.| yueb | npo | npea |mapcT| Hu ro
P 5 2 4 1 1 5 3 5 2 ne | coB |cec-| Has | w3e- | gun | utor. Ky Hen
C | 7|14[21]28[ X |12[19]|26|XII| 9 |16(23|30| 7 |14| 21[28| | | 11| 18 |25| Il | 8 |15|22| | 8 [15|22[29]| IV [12]|19|26| V | 10 | 17| 24 | 31| 7 | 14 [21]|28|VII| 12| 19| 26|VII| 9 | 16[23|31] nb cust as [nomH| atT. | nbl | emb
| 17 Hep. =| = 23 Hep. sl=[=|=|=|=|=[=|=[=]40]1440] 1 11 52
[ 16 Hea. =] = 20 Hep. :|O[0|O]=|=]=|=]|=[=]|=|=|=]36]1206] 2 | 3 11 | 52
Il 16 Hep. :1=[=]0]0 17 Hea. (0] O] =18(8[8]|=[=|=]|=|=|=[=|=]33|1188] 2| 4 | 3 10 | 52
v 17 ea. 6 =[=1 [ololo[::[8]8[8]8[8[8]8][8[8[XI X[ XXl 7]e2| 1] 4o ale]| 2 |43

Wtoro: 126 | 4536 | 6 11 12 4 6 34 199

TeopeTuyeckoe Yye6Hasn MpakTuka Mpenr Mp yTouHas KaHukynbi FocypnapcTBeHHas
obyyeHue npakTuka no npodcunio npakTuka aTTectaums uToroBasi
cneunanbHOCTH aTTecTaums
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